wed"“d“'.! Thursday

1'”5*’12]“10=_E_
2_41+26+12=jﬂ_
2 124+ 12+ 060 =30

4. What time is 3 an hour

after 8 o clock?[_ Jﬁ

.84 40 = T
5. Tkg of rice costs €1.90. ﬂ
How: much for 7 a kg? 124 14 + [l = 40

6. Show one hundred WAL . How much for :
and six on the abacus. 2 punnets of *

strawberries? Gk =

. Show one hundred
and twenty-four
on the abacus.

. What number is blgger
than 26 by 207? I-: 5

@'q --. |

8. Ruth has seventeen 10c
coins. How much

has she altogether? E 1720
9. Which has the larger area,

. What is the area

of this shape
in small
squares? _ 5- y

(a) OF (b)? b

8. 4 of8+7ofb= 4

9. How much more do | need to
have €27 53,




e hundred
o

0
:d seventy-one

o e abacus

o

ber is bigger
hat NUT”
2. 1aby 307 ||

g, 10+ 15+ BN = 35

ch for

f grapes? £] <0

4, How MY
2 bags ©

- W + 2kg + zkg
5. kg ==Zkg ™ 4 o
s 12 hours aft
6. Whﬂt time IS | 2 NOUrs arter
3 o'clock?

[

10.025-10) 4 4 < g

1. Circle the number
in the tens place: '@6

12. How long is
the matchstick? Dey




Tuesday
. ShDW one hundred

t
and ten on the abacus J (28 + 10/ = 6= -

tu

38
- What number is P +4,7

bigger than 19 by 307 49 84
. 74 is greater than 50 by A4
g an H—LI'— 15+15+-—'31+£1'
. What time is 1%

hours after 3 o'clock? -- :_..j ] . What time is 2 hours after
6 o'clock? | &
. Count the money

1A . What is the area
of this shape
@ o . . in small squares? “
. If | bought one net of pears,

el
how much change : ﬁ is 3 of 16.

from €2? 5C
s ki * . How much for

one banana?

.(20-8)-4=88

7. 12 holf of SR . 2kg of butter cost €6.
o)
8. 50cm = lmetre (<, >, =) How much for ‘lkg..

. How much more do | need

9. Jkg of sugar costs 20c.
to have €27
How much for 3kg? 40¢ . -

o @Dode

11. Emily had 18c.
Ehe s;md




